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QUESTION 1

What is a key benefit of using containers? 

A. Eliminates any long-term commitments to a technology stack 

B. Helps speed up software release cycles and improve software quality 

C. Enables services to be delivered in hour or days, not weeks 

D. Provides better probability without requiring code changes 

Correct Answer: B 

 

QUESTION 2

What refers to the logging of all transactions when assessing the effectiveness of security controls in a cloud computing
environment? 

A. Accounting 

B. Monitoring 

C. Auditing 

D. Metering 

Correct Answer: B 

 

QUESTION 3

DRAG DROP 

Match each information security concept with its description. 

Select and Place: 
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Correct Answer: 

 

QUESTION 4

What is a common characteristic of organizations that have adopted modern applications to unlock digital business
advantage? 

A. They focus on compelling user experiences and responsive designs 

B. They leverage only their internal IT infrastructure to develop and deploy applications 

C. They leverage only the public cloud to develop and deploy applications 

Latest DEA-2TT3 Dumps | DEA-2TT3 PDF Dumps | DEA-2TT3 Braindumps                                3 / 7

https://www.pass4itsure.com/dea-2tt3.html
https://www.pass4itsure.com/dea-2tt3.html
https://www.pass4itsure.com/dea-2tt3.html


https://www.pass4itsure.com/dea-2tt3.html
2024 Latest pass4itsure DEA-2TT3 PDF and VCE dumps Download

D. They focus on meeting internal users\\' demands rather than customers\\' expectations 

Correct Answer: A 

 

QUESTION 5

What is a key function of the cloud service component? 

A. Allows consumers to create service offerings for a service catalog 

B. Enables service providers to request the purchase of new IT resources 

C. Presents cloud infrastructure for use of services by consumers 

D. Allows consumers to modify the existing service offerings in a service catalog 

Correct Answer: A 

 

QUESTION 6

What is a function of the discovery operation during the service operation phase of the cloud service lifecycle? 

A. Collects information about people involved in the service operations 

B. Collects information about services available in the catalog 

C. Provides visibility into each Cloud service asset employed 

D. Restores service levels while continuously optimizing operations 

Correct Answer: A 

 

QUESTION 7

What is a key element of a cloud portal? 

A. Unified manager 

B. Element manager 

C. Orchestrator 

D. Management interface 

Correct Answer: C 

 

QUESTION 8

DRAG DROP 
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Match each key functions of service operation management with its objective. 

Select and Place: 

Correct Answer:  

 

QUESTION 9

What is a characteristic of storage resource pools? 

A. Resource pools should always be created by different types of storage devices 
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B. Resources are reserved by the application after being released by the consumer 

C. Resources are dynamically released to the pool when the consumer exceeds their quota 

D. Resources are dynamically allocated based on consumer demand 

Correct Answer: D 

 

QUESTION 10

What ensures that the cloud services and service creation processes adhere to relevant policies and legal
requirements? 

A. Problem management 

B. Risk management 

C. Audit management 

D. Compliance management 

Correct Answer: D 

 

QUESTION 11

What is specified by a service attribute? 

A. Relationships between services 

B. Configurations of service components 

C. Management operations 

D. Structure of a service 

Correct Answer: D 

 

QUESTION 12

An organization needs to deploy remote replication between two sites that are 100 km (62 miles) apart. The
organization requires a near zero recovery point objective. 

Which solution would you recommend? 

A. Hypervisor-based asynchronous replication 

B. Synchronous replication 

C. Snapshot replication 

D. Asynchronous replication 
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Correct Answer: B 

 

QUESTION 13

What is a benefit of synchronous remote replication? 

A. Replicates data across any geographic location without impacting response time 

B. Ensures source and replica have identical data at all times 

C. Supports locality of reference to improve replication performance 

D. Saves network bandwidth by replicating only deduplicated data 

Correct Answer: A 

 

QUESTION 14

In which technique does an application maintain limited functionality, even when some of the modules or supporting
services of that application become unavailable? 

A. Retry logic 

B. Persistent state model 

C. Graceful degradation 

D. Checkpointing 

Correct Answer: C 

 

QUESTION 15

Which task describes adherence to compliance? 

A. Ensure security policies are being enforced 

B. Define access rights to users 

C. Assess the cloud provider\\'s capability to provide logs 

D. Assess assets with realistic valuations 

Correct Answer: A 
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